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PŘEVODY JEDNOTEK HMOTNOSTI
Další jednotky:

1 gram = 1 g

1 miligram = 1 mg

1 tuna = 1 t

1 metrický cent = 1 q

Převody jednotek:

1 g = 1 : 1 000 = 0,001 kg
1 mg = 1 : 1 000 000 = 0,000 001 kg /m-1000 a k -1000/
1 t = 1 000 kg
1 q = 100 kg
Procvičování:
Zadání 1
5 000 g = ........ kg

6 000 000 mg = ........ kg

4 t  = ........ kg

12 q = ........ kg

řešení
5 000 g = 5 000 : 1 000 = 5 kg
6 000 000 mg = 6 000 000 : 1 000 000 = 6 kg
4 t  = 4 * 1 000 = 4 000 kg
12 q = 12 * 100 = 1 200 kg
Zadání 2
10 000 g = ........ kg

500 000 mg = ........ kg

2 t  = ........ kg

30 q = ........ kg
řešení
10 000 g = 10 000 : 1 000 = 10 kg
500 000 mg = 500 000 : 1 000 000 = 0,5 kg
2 t  = 2* 1 000 = 2 000 kg
30 q = 30 * 100 = 3 000 kg
Zadání 3
80 000 g = ........ kg

50 q = ........ kg

400 000 mg = ........ kg

7 t  = ........ kg
řešení
80 000 g = 80 000 : 1 000 = 80 kg
50 q = 50 * 100 = 5 000 kg
400 000 mg = 400 000 : 1 000 000 = 0,4 kg
7 t  = 7* 1 000 = 7 000 kg
Zadání 4
650 000 g = ........ kg

540 q = ........ kg

4 220 000 mg = ........ kg

8,7 t  = ........ kg
řešení
650 000 g = 650 000 : 1 000 = 650 kg
540 q = 540 * 100 = 54  000 kg

4 220 000 mg = 4 220 000 : 1 000 000 = 4,22 kg
8,7 t  = 8,7* 1 000 = 8 700 kg
Zadání 5
128 000 g = ........ kg

333 q = ........ kg

52 330 000 mg = ........ kg

6,4 t  = ........ kg
řešení
128 000 g = 128 000 : 1 000 = 128 kg
333 q = 333 * 100 =  33 300 kg
52 330 000 mg = 52 330 000 : 1 000 000 = 52,33kg
6,4 t  = 6,4 * 1 000 = 6 400 kg
Zadání 6
550 g = ........ kg

46,2 t  = ........ kg

0,8 q = ........ kg

52 000 mg = ........ kg
řešení
550 g = 550 * 0,001 = 0,55 kg
46,2 t  = 46,2 * 1 000 = 46 200 kg
0,8 q = 0,8 * 100 =  80 kg
52 000 mg = 52 000 : 1 000 000 = 0,052kg
